ADDITION WITHIN 1000 WITHOUT REGROUPING.
Change the mathematical sentence to vertical form and find the sum.

Tukarkan ayat matematik kepada bentuk lazim dan fambahkan.

1.143+112=

hundreds| tens | ones

2.334+232= 3.624 + 334 =

hundreds | tens | ones

4.504 +132 =

hundreds| tens ones hundreds| tens ones

5.415 + 211= 6.725 + 203 = 7.624+334=  8.222+104=
tundreds| tens | ones  undreds| fens | ones  hndreds| fens | anes  hundreds| fens | ones

9.452 + 136= 10.314 +235 =
hundreds| tens | ones  hundreds| tens | ones
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